0BS ZOITV FZHHAME

: 0X

xpat stasyA %0 N = 7121519 B
EIne 2/25(8) | 226 | 2213 | 2283 | 313) 2lule 3/2(E) 3/3(2) 2
1s Y| <AlZte Boh> ol wzalas
xF
soctE 21 0| gro|of Zol HIARIAE Aol Il AE _XOfE} c|l 6 <2B|EU| & HFF>(XH)
<2|sy 3 HH> <228yl g Ht T OHR| 50
A MBS xh) b
= > (xh) ne7| TV
OBS LA A|M
SE3 S0l 7 ool Mma
45 B 50
E7| OBS &2 745 OBS F2A 745 | 5t
LA A0{HrA =izl T o
;. OBS FA 745 ($:0{tt) F (o) F o) zcoa fICHSH xHH
=P Ol AH WA (S Al <OpLhs (238 4)
5 SLISE <0|20] 214> AH|A (5} A) — 8 el
| 12 50
SubCy 7| SH
Of At BrCH =901 otel 2 =gt oliclof 32 | A 2YCH
Hhatel § 2 NEe> () zo elotel 2 P
(™) ° = (H) - 2TV <7t&+>(XH)
FEHA|OFE ZHCH ! — 9 (%
45 9:45
B =5 ons x4 OBS H2 945 50
OBS A 945 (4:0{t4 T e i = 3
5 F=ogd) (Fog5) (0] ek FHOHT NAato| B =
h L2 EIOIEFR <Ot >(xh) AE AbRtE <z7|70| = sope
catop 3E <EMOAF EEa> sy wus | 101 45 (%H) NG
(RH) Aok =0 S8 454 - -
1|+ t “LI A 10054 3-1% 7|4 M, A FHaa
15 B2 194 X TH chEre =
= 27|18 M4, x ot 28 11
AotaH TEQHR| (X N T 45
s HotaH 2SN =) 2 ohErsl 1145 55 B3] OB =X
2 Xt Xt
5 OBS w2 <FQAEH0|>(0{L5) 12:05 s ool ner —
== == —
olo| AlEF L
HE 49 Hyo|3 o} OBS AWM o i 12 (Rpaf, stRsiA) Qhet> (X)
() (xH) () == 8cS 50
(e ) Ri2% 0] -
> MAFS|E B ol M 7| 20| = ASIA
: : EYNELY i 1 ﬂ;loarom <opAlotR B RE=
ESuPS! = (<] o
OBS Zrj 4 Haol RS 23 | <ojzt0] oM = o ks
(%H) <Z7|™of & gtopgt (BtoHsyAd) Xt ol
5 A7ol HH> () s 1405 125'> 140' 5 s
14:25 12 B Aot
17| TV <& E0| OF5 > 3125 10054 2 OBS Aj4of
55 1 §-:: :ﬁ k) SR <afual
o S WS AKX
BOtoH BESHX| (RH) 2714 M3, 1515 (ZH) ol O H|O|E>
" v @Ol rUEHSITIN -
= HEA AL 25 25 | 15 EENETTEC. (XH)
= EEED = PU— X T HEE AHA
45 =2 Dmuges SRR 1545 3| 40| 201— 110
degs () 1550 Auts  HEEED - 50 e AR
E Ao 5o A g 2 2tet 98 Talk A o4 130
<2 ZXtE]> YA | Qe By (el o|gto| & shetol M2 714 X, XahY e
12 o a5 g =
Al OF) <HE.£4> 4 ERARL ) EIOFCHR <OFH{X|>
45 Ac Ac 45 (®)
g it =7 55 OBS #X
= OBS H2 Xt N
OBS £A <Q5> Ex OBS 72 i 15 BBC £H 7|2
. <o5> <2s> =o|3 o2 <0 $E>
OBS 2 5
45 g ()
Zol HZIB|AE <RE> ﬁ 3125 10054 50
orojgtojot | <omsw o =1 o Zopat A EE S T
1o ot <f2|s4l o Ht olH 7, Lo <505 oM = " morah
35 2> 18335 g gk 6 2z () o= OFX| £ (Xf)
45 3125 10054 7|y
cajop 3% 5 2U3% e ek
<EIMOIR £ B> <o10l e () <1004 %,
i 7| | e e fs
— = gy
M =% oBS S M - OBS K4
OBS H2 ES
B 0BS 2 M a h] X
30 8 1Y Y oF [l oo
oo g LA 2020 —— oo gC LA e, HER <Eoy, Lpmy,
- 282 UE 7= | =="= gasrelLt +y8Y>
10
SE3 g0 o SA o
40 9 15 HM7|s9| HesM I
o +&4 o x| S=o1d
WX Q EM BBC 7|2l 2o e Q0| = ASIA soicta INEERS]
~ ; o e - <SOS OpM = <OFA|O} 23} 2 EIX L e 10 .
<AEZ| 2H Jt> <H HE> EPS HEAIZ |2 ALRES 1 fIS ]?f;
35
OBS &A2t0l QIM-Z7| oBS AlU[at OBS Al o}
T — <Lpel A
b} E EE Bt <o Lto| AlkL>
=30 EELEE 12 ol o -*
oigto| =Lk of i || ] HO|E>
PPIES ool ¢ Of Gkt HCHE A AR OBS A|4|of 11 A
<®3> 107 110'
| I . 1o Aler [
B g28 2710 TEERE. =t 2o a1 | 0l e 130 —
St eto|E <R EE7|> () ol EaT 101'— 110' 12 WHRECD
55 *h (pepspmep) | <HYEI Lo0 Fet 2tojs
P x| m—
Zuto| w st ¥ Talka () ol A M AH|
' 25H 0 <B.E.4> (7) BEr——— . -
s R EY T T zwe e stolatol=
Sl sl AD 25:45
0 (=N =) e c SHEIALR (RH) (xH)
S714 M, X Tk chEr () g R — (&feis]
Y= 2SS ARa () 2615
2
40




	2월 4주_1

